[ Efficiency vs vertpos |
- 05

20.45

g
2 04

iy
+
i
+

10

1 10 0?
TP vertr (cr%)

—=#— DQM_CKF_TT_base_noSel

Efficiend —— pQMm_ckF_TT_baseT125_nosel

~ 0.5

Q0.45F----- R
") . .

> 04_ ...... .... .....
> . N

2 : :

§ 036wt
0.3 -wrfeeeee i
0.25F -+ bemnenadenes
P RO
(1S
0.0 --oemeeee foees

0.05f----w-eemmendogens :
0,7 i,

ettici

)

...........................

...........................

...........................

-
5
.

Ratio
N
T

Yy TR T 1V v | A T

0.95!

[ Efficiency vs. sim PV z |

0 10 20 30
TP vert z (cm)

~ 0.05

>
50.045

E
50.04

D
T T T TTTT

21086 -4 20 2 4 6 8 10

Sim. PV z (cm)




	Contents
	Page 1


